7.2 Corrective Assignment — LOGARITHMIC FUNCTIONS Name:

Pre-Calculus
For 1-2, Expand the logarithm. (NOTLIKE T HI S ! I 1)
1
1. 3Inabzc 2. lnE
yz

For 4-6, Rewrite the expression as a

singlelog.(C o n d ensel)

3. 5loga +2logb-3logc

Inx

4'T+ Iny—5Inz

Solve for x using the “Bean method” (change of base formula). Show your work! Go out four places!

5. 2*=14

6. 8 =120

7.16* = 64

Solve for x by using the “Brust meth

od” (canceling the base with logs). S

how your work! Go out four places!

8. 10* = 15

9. 64* =1024

10. 500 = 50

Solve for x by using the Sully method (by graphing). Tell the point of intersection used to solve the equation.

11. 7* =17

X = Point (

)

’

14* = 22
Point (

12.
X =

)

’

13.
X =

20* =20
Point (

)

7




Find x, y, or b as indicated in the following problems.

14.

log,x = 16

15

logs;8 =y 16.  logy16 =+

17.

log,10 =0

18.

1
logg,x = >

19. logi:27 =y
3

20.

log,1000 =2

Use logarithms to find the inverse o

f the given function.

21. f(x)=2*+3

22. f(x) =12*

23. f(x) =5*5

24. f(x) =1In (12x)

25. logy =2logx —1

26. logy =

logx+6

Answers:

1.
6.

3
Ina® +Incd +Invb
x=2.3023 7. x=1.5

x = 416 = 4294967296 15. y= =

2.Inx—=Iny—Inz 3.log

8. x=1.1761 9.

3

«

.y=-3 20. b=100 21. f1(x) =

Cf) = BO a3 i) =

log12
. f—l(x) — 10610gx—6

a®b? y¥x
= 4. In =
x=16667~ ® _  10. x=0.6295

5. x=3.8074

x = 1.4560 (1.4560, 17) 12. x =1.1713(1.1713,22) 13. x=1(1, 20)

16. b=256 17. No Solution 18. x=9
log (x-3)

log2

X 1 1
SO L5 24 fN0 =S 25 fTx) = 10:08:

logs




